(numbers in parentheses below indicate different varieties of the same mineral)
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Feld Biot WhMica aQz And fCd H20 = (2)Feld Biot WhMica aQz And fCd H20
(2)Feld Biot WhMica aQz And fCd H20 = (2)Feld Biot aQz And fCd H20
(2)Feld Biot aQz And fCd H20 = (2)Feld Biot Cord aQz And fCd H20

: (2)Feld Biot Cord aQz And fCd H20 = (2)Feld Biot Cord aQz fCd H20

: (2)Feld Biot Cord aQz fCd H20 = (2)Feld Biot Cord bQz fCd H20

: (2)Feld Biot Cord bQz fCd H20 = (2)Feld Biot OPX Cord bQz fCd H20

: (2)Feld Biot OPX Cord bQz fCd H20 = (2)Feld OPX Cord bQz fCd H20

: (2)Feld OPX Cord bQz fCd H20 = Spin (2)Feld OPX Cord bQz H20

. Feld Biot WhMica Chlor4 aQz H20 = Feld Biot WhMica Stau Chlor4 aQz H20
. Feld Biot WhMica Stau Chlor4 aQz H20 = Feld Biot WhMica Stau aQz H20

. Feld Biot WhMica Stau aQz H20 = Feld Biot WhMica Stau aQz And H20

. Feld Biot WhMica Stau aQz And H20 = Feld Biot WhMica aQz And fCd H20
. Feld Biot WhMica aQz And H20 = Feld Biot WhMica aQz And fCd H20

. Feld Biot WhMica aQz And H20 = (2)Feld Biot WhMica aQz And H20

. (2)Feld Biot WhMica aQz And H20 = (2)Feld Biot aQz And H20

. (2)Feld Biot aQz And H20 = (2)Feld Biot aQz And fCd H20

. (2)Feld Biot Cord aQz And fCd H20 = (2)Feld Biot Cord bQz fCd H20

. (2)Feld Biot Cord bQz fCd H20 = Garn (2)Feld Cord bQz fCd H20

: Garn (2)Feld Cord bQz fCd H20 = Garn (2)Feld OPX Cord bQz fCd H20

: Garn (2)Feld OPX Cord bQz fCd H20 = (2)Feld OPX Cord bQz fCd H20

. Feld Biot WhMica Stau aQz And H20 = Feld Biot WhMica aQz And H20

: (2)Feld Biot aQz And H20 = (2)Feld Biot bQz And H20

: (2)Feld Biot bQz And H20 = (2)Feld Biot bQz Sil H20

. (2)Feld Biot bQz Sil H20 = (2)Feld Biot bQz Sil f{Cd H20

. (2)Feld Biot bQz Sil fCd H20 = (2)Feld Biot Cord bQz Sil fCd H20

: (2)Feld Biot Cord bQz Sil fCd H20 = (2)Feld Biot Cord bQz fCd H20

. Spin Garn (2)Feld Cord bQz H20 = Garn (2)Feld Cord bQz fCd H20

: Spin Garn (2)Feld Cord bQz H20 = Spin Garn (2)Feld OPX Cord bQz H20

: Spin Garn (2)Feld OPX Cord bQz H20 = Spin (2)Feld OPX Cord bQz H20

. Feld Biot WhMica aQz Sil H20 = Feld Biot WhMica aQz And H20

: Feld Biot WhMica aQz Sil H20 = (2)Feld Biot WhMica aQz Sil H20

: (2)Feld Biot WhMica aQz Sil H20 = (2)Feld Biot aQz Sil H20

. (2)Feld Biot aQz Sil H20 = (2)Feld Biot bQz Sil H20
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(2)Feld Biot bQz Sil H20 = Garn (2)Feld Biot bQz Sil H20

Garn (2)Feld Biot bQz Sil H20 = Garn (2)Feld Biot Cord bQz Sil H20

Garn (2)Feld Biot Cord bQz Sil H20 = Garn (2)Feld Cord bQz Sil H20

Garn (2)Feld Cord bQz Sil H20 = Spin Garn (2)Feld Cord bQz Sil H20

Spin Garn (2)Feld Cord bQz Sil H20 = Spin Garn (2)Feld Cord bQz H20

Feld Biot WhMica Stau aQz H20 = Feld Biot WhMica Stau aQz Sil H20

Feld Biot WhMica Stau aQz Sil H20 = Garn Feld Biot WhMica aQz Sil H20

Garn Feld Biot WhMica aQz Sil H20 = Feld Biot WhMica aQz Sil H20

Feld Biot WhMica Stau aQz Sil H20 = Garn Feld Biot WhMica Stau aQz Sil H20
Garn Feld Biot WhMica Stau aQz Sil H20 = Garn Feld Biot WhMica aQz Sil H20
Feld Biot WhMica Chlor4 aQz H20 = Garn Feld Biot WhMica Chlor4 aQz H20
Garn Feld Biot WhMica Chlor4 aQz H20 = Garn Feld Biot WhMica Stau Chlor4 aQz H20
Garn Feld Biot WhMica Stau Chlor4 aQz H20 = Feld Biot WhMica Stau aQz H20
Garn Feld Biot WhMica Stau aQz H20 = Feld Biot WhMica Stau aQz H20

Garn Feld Biot WhMica Stau aQz H20 = Garn Feld Biot WhMica Stau aQz Sil H20
(2)Feld Biot WhMica aQz Sil H20 = Garn (2)Feld Biot WhMica aQz Sil H20

Garn (2)Feld Biot WhMica aQz Sil H20 = Garn (2)Feld Biot aQz Sil H20

Garn (2)Feld Biot aQz Sil H20 = Garn (2)Feld Biot bQz Sil H20

Garn Feld Biot WhMica Stau Chlor4 aQz H20 = Garn Feld Biot WhMica Stau aQz H20
Garn Feld Biot WhMica aQz Sil H20 = Garn Feld Biot WhMica bQz Sil H20

Garn Feld Biot WhMica bQz Sil H20 = Garn (2)Feld Biot WhMica bQz Sil H20
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Garn (2)Feld Biot WhMica bQz Sil H20 = Garn (2)Feld Biot bQz Sil H20

Feld Biot WhMica Chlor4 aQz And fCd H20 = Feld Biot WhMica aQz And fCd H20
Feld Biot WhMica Chlor4 aQz fCd H20 = Feld Biot WhMica Chlor4 aQz And fCd H20
(2)Feld Biot WhMica Chlor4 aQz fCd H20 = Feld Biot WhMica Chlor4 aQz fCd H20
(2)Feld Biot WhMica Chlor4 aQz H20 = (2)Feld Biot WhMica Chlor4 aQz fCd H20
Feld Biot WhMica Chlor4 aQz H20 = (2)Feld Biot WhMica Chlor4 aQz H20

Feld Biot WhMica Stau Chlor4 aQz H20 = Garn Feld Biot WhMica Stau Chlor4 aQz H20
Feld Biot WhMica Stau aQz Sil H20 = Feld Biot WhMica Stau aQz And H20
(2)Feld Biot Cord bQz And fCd H20 = (2)Feld Biot Cord bQz fCd H20

(2)Feld Biot Cord bQz And fCd H20 = (2)Feld Biot bQz And fCd H20

(2)Feld Biot bQz And H20 = (2)Feld Biot bQz And fCd H20

Garn (2)Feld Cord bQz Sil fCd H20 = Garn (2)Feld Cord bQz fCd H20

Garn (2)Feld Cord bQz Sil fCd H20 = Garn (2)Feld Cord bQz Sil H20

Garn (2)Feld Cord bQz fCd H20 = (2)Feld OPX Cord bQz fCd H20

(2)Feld Biot aQz And fCd H20 = (2)Feld Biot bQz And fCd H20

Garn Feld Biot WhMica Chlor4 aQz H20 = Feld Biot WhMica Stau Chlor4 aQz H20
(2)Feld Biot aQz And H20 = (2)Feld Biot aQz Sil H20

Garn Feld Biot WhMica aQz Sil H20 = Garn (2)Feld Biot WhMica bQz Sil H20
Garn (2)Feld Biot Cord bQz fCd H20 = (2)Feld Biot Cord bQz fCd H20

Garn (2)Feld Cord bQz fCd H20 = Garn (2)Feld Biot Cord bQz fCd H20

Feld Biot WhMica Chlor4 aQz fCd H20 = Feld Biot WhMica Stau Chlor4 aQz fCd H20
Feld Biot WhMica Stau Chlor4 aQz fCd H20 = Feld Biot WhMica Stau aQz fCd H20
Feld Biot WhMica Stau aQz fCd H20 = Feld Biot WhMica aQz And fCd H20

Garn (2)Feld Biot bQz Sil H20 = (2)Feld Biot bQz Sil fCd H20

Feld Biot WhMica Stau aQz And H20 = Feld Biot WhMica aQz Sil H20

(2)Feld Biot bQz And fCd H20 = (2)Feld Biot bQz Sil f{Cd H20

Garn Feld Biot WhMica aQz Sil H20 = Garn (2)Feld Biot WhMica aQz Sil H20
Garn (2)Feld Biot WhMica aQz Sil H20 = Garn (2)Feld Biot WhMica bQz Sil H20
(2)Feld Biot Cord bQz fCd H20 = Garn (2)Feld Cord bQz fCd H20

Feld Biot WhMica Chlor4 aQz fCd H20 = Feld Biot WhMica Stau Chlor4 aQz H20
Feld Biot WhMica Stau aQz H20 = Feld Biot WhMica Stau aQz fCd H20

(2)Feld Biot Cord bQz Sil fCd H20 = (2)Feld Biot Cord bQz And fCd H20

Feld Biot WhMica Stau aQz H20 = Garn Feld Biot WhMica Stau aQz Sil H20
(2)Feld Biot WhMica aQz And H20 = (2)Feld Biot WhMica aQz And fCd H20
(2)Feld Biot Cord bQz fCd H20 = Garn (2)Feld Cord bQz fCd H20

Garn (2)Feld Biot Cord bQz fCd H20 = (2)Feld Biot Cord bQz fCd H20

Garn (2)Feld Cord bQz fCd H20 = Garn (2)Feld Biot Cord bQz fCd H20

(2)Feld Biot WhMica Chlor4 aQz H20 = Feld Biot WhMica Stau Chlor4 aQz H20
Feld Biot WhMica Stau Chlor4 aQz fCd H20 = Feld Biot WhMica Stau Chlor4 aQz H20
(2)Feld Biot Cord bQz Sil fCd H20 = Garn (2)Feld Cord bQz Sil H20

Garn (2)Feld Cord bQz Sil fCd H20 = (2)Feld Biot Cord bQz Sil fCd H20

Garn (2)Feld Biot WhMica aQz Sil H20 = Garn (2)Feld Biot bQz Sil H20

(2)Feld Biot aQz Sil H20O = Garn (2)Feld Biot aQz Sil H20

Feld Biot WhMica Stau aQz Sil H20 = Feld Biot WhMica aQz Sil H20

Garn Feld Biot WhMica aQz Sil H20 = Garn (2)Feld Biot WhMica bQz Sil H20

Garn (2)Feld Biot WhMica aQz Sil H20 = Garn (2)Feld Biot WhMica bQz Sil H20
Garn Feld Biot WhMica aQz Sil H20 = Garn (2)Feld Biot WhMica aQz Sil H20

Feld Biot WhMica Stau Chlor4 aQz fCd H20 = Feld Biot WhMica aQz And fCd H20
(2)Feld Biot Cord aQz And fCd H20 = (2)Feld Biot Cord bQz And fCd H20

Garn (2)Feld Cord bQz fCd H20 = (2)Feld Biot OPX Cord bQz fCd H20

Garn (2)Feld OPX Cord bQz fCd H20 = (2)Feld OPX Cord bQz fCd H20

Garn (2)Feld Cord bQz fCd H20 = Garn (2)Feld OPX Cord bQz fCd H20

Feld Biot WhMica aQz And fCd H20 = Feld Biot WhMica Stau aQz H20

(2)Feld Biot WhMica aQz And H20 = (2)Feld Biot aQz Sil H20

(2)Feld Biot aQz And H20 = (2)Feld Biot bQz Sil H20

(2)Feld Biot WhMica aQz Sil H20 = Garn (2)Feld Biot aQz Sil H20



111):
112):
113):
114):
115):
116):
117):
118):
119):
120):
121):
122):
123):
124).
125):
126):
127):

Feld Biot WhMica Stau Chlor4 aQz fCd H20 = Feld Biot WhMica Chlor4 aQz And fCd H20
(2)Feld Biot WhMica aQz And H20 = (2)Feld Biot aQz And fCd H20

(2)Feld Biot aQz And fCd H20 = (2)Feld Biot Cord bQz And fCd H20

(2)Feld Biot aQz And fCd H20 = (2)Feld Biot Cord aQz And fCd H20

(2)Feld Biot WhMica aQz Sil H20 = (2)Feld Biot WhMica aQz And H20

Garn (2)Feld Biot Cord bQz Sil H20 = (2)Feld Biot Cord bQz Sil fCd H20

Garn (2)Feld Cord bQz Sil fCd H20 = Spin Garn (2)Feld Cord bQz Sil H20

(2)Feld Biot aQz Sil H20 = (2)Feld Biot bQz And H20

(2)Feld Biot aQz Sil H20 = Garn (2)Feld Biot bQz Sil H20

Feld Biot WhMica Stau aQz Sil H20 = Garn Feld Biot WhMica Stau aQz Sil H20
Feld Biot WhMica Stau aQz H20 = Garn Feld Biot WhMica Stau aQz Sil H20

Feld Biot WhMica Stau aQz Sil H20 = Garn Feld Biot WhMica Stau aQz Sil H20
Feld Biot WhMica Stau aQz H20 = Feld Biot WhMica Stau aQz Sil H20

(2)Feld Biot WhMica aQz Sil H20 = Garn (2)Feld Biot aQz Sil H20

Garn (2)Feld Biot WhMica aQz Sil H20 = Garn (2)Feld Biot aQz Sil H20

(2)Feld Biot WhMica aQz Sil H20 = Garn (2)Feld Biot WhMica aQz Sil H20

(2)Feld Biot WhMica Chloror4 aQz H20 = Feld Biot WhMica Chloror4 aQz fCd H20



